MERU SCHOOL
MATHEMATICS  FORM TWO HOLIDAY ASSIGNMENT TERM 1 2024
1. Evaluate:   5 ½ - 11/7 (11/5 + 9/10) + ⅓ of (⅔  5/6).					   (3mks)
2. Evaluate without using a calculator.							(3mks)
· ½ 						
¾ - 2 ¾ 
3. Evaluate without using a calculator:							(3mks)
 -3(6+-2)  -12 
  
4. Without using a calculator or mathematical tables, evaluate:
                                    ¾ 
   									(3mks)
5. Solve for x in the equation:									
               2 – x               (x – ½ )
8  x          =  16 

6. If 2x+y = 16 and 42x-y = 1/4 , find (y – x) : 2y.						(4mks)
7. Use tables of reciprocals to evaluate:							(3mks)
 

8. Use  tables of squares, reciprocals and square roots to evaluate:
(2.456)2  + 
9. Using factor method evaluate:							(2mks)
 
10. The volume of a material used to make a cube is 175.616cm3. Find the length of the side of the cube.											(3mks)
11. A metallic cube of length 10cm was melted and recast to make a cuboid of length 12cm and width 5cm. find the height of the cuboid.						(3mks)
12. Use logarithms to evaluate:								(4mks)
 

13. Use logarithms correct to 4 d.p. to evaluate:						(4mks)
 
14. Use logarithm tables to evaluate:



15. Given that -3/5 x + 2y – 8 = 0 is an equation of straight line L1, find:
a) The gradient of L1.								  (1mk)
b) The equation of line L2 passing through a point (2,3) and parallel to the line L1. (3mks)
16. Find the equation of the perpendicular bisector of the line AB where A(5,9) and B(7,5) giving your answer in the form ax + by + c = 0.						(4mks)
17. A line which joins the points A(2,K) and B(-12,6) is parallel to another line whose equation is 10y+5x = 3
a) Find the value of K.								(1mk)
b) Find the co-ordinate of the pint where AB meets the x-axis.			(2mks)
18. Two similar bottles have corresponding lengths in the ratio 2:3 and the sum of their surface areas is 182cm2, find the surface area of the bigger bottle.				(3mks)
19. The surface area of two similar cans is 1242cm2 and 552cm2. If the volume of the smaller can is 804cm3, find the volume of the larger can.						(3mks)
20. Two similar containers have masses 256kg and 32kg respectively. If the surface area of the smaller container is 810cm2, find the surface area of the larger container.		(3mks)
21. A mother is three times as old as her son. In two years time, the difference between their ages will be 24 years. Find their present ages.						(3mks)
22. The size of an interior angle of a regular polygon is 156. Find the number of sides of the polygon.  										(2mks)
23. The interior angle of a regular polygon is 20o more than three times the exterior angle. Determine the number of sides of the polygon.					(3mks)
24. The sum of interior angles of a regular polygon is 1260o. Find the size of each exterior angle of the polygon.										(3mks)
25. A rectangular floor of a room measures 5.4m long and 4.2m wide. The room is to be covered with square tiles. Calculate the minimum number of square tiles that can be used to cover the floor.											(3mks)
26. Four bells ring at intervals of 5, 15, 20, and 25 minutes. If the bells rang together at 10.00 a.m. on Sunday, find the time they will ring together again.				(3mks)
27. A farmer has three containers of milk with capacities 24L, 32L and 36L. He wishes to transfer the milk into one container. Find the smallest container that can be filled by each of them an exact number of times.								(3mks)
28. Simplify : 4x – 3  -  3x+4  =  2 – x							(3mks)
           5            3          15
29. Simplify  2p – 2q – xp + xq
P – q 
30. Solve the equation:									(3mks)
⅓(2x+1) + ¼(5x – 1) = ½ 
31. Convert the following recurring decimal into a fraction:
a) 0.                                                                             			  	(3mks)
b) 5.											(3mks)
c) 1.4										(3mks)
32. Calculate the volume of concrete required to make a culvert of internal radius 0.36m, thickness 0.07m and length 2m correct to 3 d.p.						(3mks)
33. A U.K tourist arrived in Kenya with £30,000. He paid 20% commission at the airport and his expenses in Kenya amounted to sh.90,000. How much money did he remain with in Kenya shillings given that:									(4mks)
1Uk £ = sh.70.50	



34. A Kenyan company received 6300 US dollars and exchanged the whole amount for Kenya shillings. The company spent Ksh.146,000 and converted the rest into Sterling pounds. Determine the amount the company got in Sterling pounds using the table below.

	
	Buying (Ksh)
	Selling (Ksh)

	1 US dollar
	73
	75

	1 Sterling Pound
	123
	126



35. A football match lasts 90 minutes with a break of 15 minutes at half time. If a referee allowed five minutes extra for injuries and stoppages, what time does a match which kicks at 4.30 p.m. end?											(3mks)
36. The ratio of the cost of items A:B=2:5 and the ratio of the cost of the items B:C = 10.3. If the total cost of the three items is sh.34,000, find the total cost of item C.		(3mks) 
SECTION II
37. A farmer had 540 bags of maize each having a mass of 112kg. after drying the maize, the mass decreased in the ratio, 15:16:
a) Calculate the total mass lost after the maize was dried.				(3mks)
b) A trader bought and repacked the dried maize in 90kg bags. He transported the maize in a lorry which could carry a maximum of 120 bags per trip:
i) Determine the number of trips the lorry made.				(3mks)
ii) The buying price of a 90kg bag of maize was sh.2500. the trader paid sh.5000 per trip to transport the maize to the market. He sold the maize and made a profit of 25%. Calculate the selling price of each bag of maize.			(4mks)
38. Two lines L1:2y – 3x – 6 = 0 and L2:3y+x=20 intersect at point A:
a) Find the co-ordinates of A.							(3mks)
b) A third line L3 is perpendicular to L2 at point A. find the equation of L3 in the form y=mx+c where m and c are constants.						(3mks)
c) Another line L4 is parallel to L1 and passes through (-1,3). Find the x and y intercepts of L4.											(4mks)
39. Triangle PQR has vertices P(2,3) Q(1,2) and R(4,1) and P''Q''R'' has vertices P''(-2,3), Q''(-1,2) and R''(-a4,1);
a) Draw PQR and P''Q''R'' on the same axes.																	(2mks)
b) Describe fully a transformation that maps PQR onto triangle P''Q''R''.		(2mks)
c) On the same axes draw triangle P'Q'R' the image of PQR under reflection in the line y+x=0.											(2mks)
d) Draw triangle  P'''Q'''R''' such that it Can be mapped onto triangle PQR by a rotation +90o about (0,0).									(2mks)
e) State all pairs of triangles that are oppositely congruent.				(2mks)
40. A construction company requires to transport 144 tones of stones to site A and B. The company is paid sh.24,000 to transport 48 tonnes of stones for every 28km. one day the company transported 96 tonnes to site A which was 56km away:
a) Calculate the amount of money the company was paid that day.			(4mks)
b) To transport stones to site A, the company spends sh.3000 for every 8 tonnes of stones. Calculate the total profit made by the company.					(3mks)
c) The remaining tonnes were transported to site B which was 84km away. The company made 44% profit. Find the transportation cost.					(3mks)

41. A businessman bought 100 mathematical sets and 80 watches for a total cost of sh.25,600. If he had bought twice as many watches and half as many mathematical sets, he would have paid sh.7400 less. He sold each set at a profit of 10% and each watch at a profit of 20%.
a) Form two equations to show how he bought the sets and watches.		(2mks)
b) Find the cost of each item.							(3mks)
c) Calculate the profit he made from the sale of 100 sets and 80 watches.		(3mks)
d) what percentage profit did he make from the sale of 100 sets and 80 watches?	 (2mks)

42. A cylindrical can has hemispherical cap. The cylinder and the hemisphere are of radius 3.5cm. the cylindrical part is 20cm high. (Take π = 22/7):
i) Calculate the area of the circular base.					(2mks)
ii) The area of the curved cylindrical surface.					(3mks)
iii) The area of the curved hemisphere surface.					(3mks)
iv) The total surface area								(2mks)
43. Two boats P and Q leave Mwanza at the same time. P sails on a bearing of 200o at 120km/h while Q sails due east at 100km/h. using a scale of 1:2000000,
a) Draw a diagram to show the position of the two boats after 1 ½ hours.		(3mks)
b) Using the diagram, determine the distance between the two boats after the 1 ½ hours. 												(2mks)
c) i  Find the bearing of P from Q.							(1mk)
ii)  The bearing of Q from P.							(1mk)
d) If after 1 ½ hours boat P had to sail to where Q was after the 1 ½ hours, how long would it take to reach there?				 				(3mks)
44. a)  Draw triangle ABC such that A(4,-2) B(5,-2) and C(5,-1).			(1mk)
b)  On the same grid:
i)  Draw triangle A'B'C'  the image of ABC under enlargement scale factor 2 centre (5,-3).											(3mks)
ii)  Triangle A''B''C'' is the image of  A'B'C' under reflection in the line y = -x. Draw  A''B''C''.
											(2mks)
iii)  Triangle A'''B'''C''' is the image of triangle ` A''B''C'' after a rotation +90o about (0,0). Draw A'''B'''C'''.										(2mks)
c) State a pair of triangles that are:
i)  Oppositely congruent
ii) Directly congruent
45. Given that a line L1 passes through the point P(2,1) and Q(4,5), find:
a) The equation of L1 in the form y=mx+c.						(3mks)
b) The equation of line L2, which is perpendicular to the line L1 and passes through point (1,4) leaving your answer in the form ax+by=c where a, b and c are integers.		(3mks)
c) The co-ordinates of the point of intersection of lines L1 and L2.			(4mks)
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